Priloha

#R—kéd

#nacitanie ddt Sportovych ¢cinnosti — tréningy a preteky

dokopy<—read_excel (”dokopy.xlsx”, col_names = TRUE)

as.data.frame (dokopy)
dokopyl<—dokopy[,—c(7,8,9)]
dokopyynove<—as .data.frame(dokopyl)

#priprava ddt

library (dplyr)

zona2dokopy<— select (dokopyynove, zona2, zonal,
zona3dokopy<— select (dokopyynove, zona3, zonal,
zonaddokopy<— select (dokopyynove, zona4, zonal,
zonab5dokopy<— select (dokopyynove, zonab, zonal,
zonab6dokopy<— select (dokopyynove, zona6, zonal,

#pivot transformdcia

pivot _zonal<—pivotCoord (dokopyynove)
pivot _zona2<—pivotCoord (zona2dokopy)
pivot _zona3<—pivotCoord (zona3dokopy)
pivot _zonad4<—pivotCoord (zonaddokopy)
pivot _zonab5<—pivotCoord (zona5dokopy)
pivot _zona6<—pivotCoord (zona6dokopy)

colnames(pivot_zonal)<— (c(”pl”, "p2”, "p3”,”p4d”
zonalcel<—cbind (pivot_zonal, dokopy[c(7,8,9)])

colnames (pivot_zona2)<— (c(”’pl”, "p2”, "p3”,”p4d”
zona2cel<—cbind(pivot_zona2, dokopy[c(7,8,9)])

colnames (pivot_zona3)<— (c(”’pl”, "p2”, "p3”,”p4d”
zona3cel<—cbind(pivot_zona3, dokopy[c(7,8,9)])

colnames (pivot_zonad)<— (c(”’pl”, "p2”, "p3”,”p4d”
zonadcel<—cbind(pivot _zona4, dokopy[c(7,8,9)])

colnames (pivot_zonab)<— (c(”pl”, "p2”, ”"p3” ,”pd” ,”

zonab5cel<—cbind(pivot _zona5, celkovo[c(7,8,9)])

colnames (pivot_zona6)<— (c(”"pl”, "p2”, "p3”,7p4d”
zona6cel<—cbind (pivot _zona6, dokopy[c(7,8,9)])
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Iml<—Im( tss 7 pl + p2 + p3 + p4 + p5 + typ, data = zonalcel)

summary (lm1)

Im2<—Im(tss ~ pl + p2 + p3 + p4 + p5 + typ, data

summary (1m2)

= zonaZ2cel)

Im3<—Im( tss 7 pl + p2 + p3 + p4 + p5 + typ, data = zona3cel)

summary (1m3)

Im4<—Im(tss ~ pl + p2 + p3 + p4 + p5 + typ, data = zonadcel)

summary (1m4)

Im5<—Im( tss ~ pl + p2 + p3 + p4 + p5 + typ, data = zonabcel)

summary (1m5)

Im6<—Im(tss ~ pl + p2 + p3 + p4 + p5 + typ, data

summary (1m6 )
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Imlk<—Im( kcal = pl 4+ p2 + p3 + p4 + p5 4+ typ, data = zonalcel)

summary (1m1k)

Im2k<—Im(kcal ~ pl + p2 + p3 + p4 + p5 + typ, data = zona2cel)

summary (1m2k)

Im3k<—Im( kcal ~ pl + p2 + p3 + p4 + p5 + typ, data = zona3cel)

summary (1m3k)

Im4k<—Im(kcal = pl + p2 + p3 + p4 + p5 + typ, data = zonadcel)

summary (1m4k)

Im5k<—Im(kcal ~ pl + p2 + p3 + p4 + p5 + typ, data = zonabcel)

summary (1m5k)

Im6k<—Im(kcal ~ pl + p2 + p3 + p4 + p5 + typ, data = zonabcel)

summary (1m6k )
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